
	Bracket sums (type 1)
	Answer
	Bracket sums

(type 2)
	Answer
	Calculator, jottings or mental strategy

	4 + (10 x 5)


	
	(4 + 10) x 5
	
	

	8 + (2 x 9)


	
	(8 + 2) x 9
	
	

	49 + (6 x 30)

	
	(49 + 6) x 30
	
	

	56 + (15 x 9)

	
	(56 + 15) x 9 
	
	

	245 + (35 x 78)
	
	(245 + 35) x 78
	
	

	6 + (10 x 9)
	
	(6 +10) x 9
	
	

	9 + (8 x 55) 
	
	(9 + 8) x 55
	
	

	12 + (7 x 8)
	
	(12 + 7) x 8
	
	

	208 + (100 x 0.7)
	
	(208 + 100) x 0.7
	
	

	98 + (4 x 7)
	
	(98 + 4) x 7
	
	


Which type of bracket sum gives you the largest answer?

Can you think of any uses for setting out your sums in this way?

Extension: If you have finished can you put subtraction and addition sums into brackets? What do you notice about the answers you get to these calculations?

For example:
(3 + 7) – 2 = 

3 + (7 – 2) =

	Bracket sums (type 1)
	Answer
	Bracket sums

(type 2)
	Answer

	4 + (10 x 5)
	
	(4 + 10) x 5
	

	8 + (2 x 9)
	
	(8 + 2) x 9
	

	11 + (3 x 4)
	
	(11 + 3) x 4
	

	2 + (7 x 11)
	
	(2 + 7) x 11
	

	20 + (6 x 7)
	
	(20 + 6) x 7
	

	6 + (6 x 3)
	
	(6 + 6) x 3
	

	10 + (8 x 20)
	
	(10 + 8) x 20
	

	7 + (8 x 6)
	
	(7 + 8) x 6
	

	9 + (1 x 50)
	
	(9 + 1) x 50
	

	8 + (2 x 25) 
	
	(8 + 2) x 25
	

	50 + (2 x 10)
	
	(50 + 2) x 10
	


Which type of bracket sum gives you the largest answer?

Can you think of any uses for setting out your sums in this way?

